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Example-1: Redox reaction

Mg is oxidized
It loses electrons
Oxidation —l
0 0 2 -2
Mg + O, —  MgO
Reducing Oxidizing
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= 1g Reduction

Oxygen is reduced
It gains electrons

Magnesium reacts with oxygen gas produces magnesium oxide in an oxidation-reduction
reaction or simply a redox reaction. Electrons are being transferred from one element to another.
Since the oxidation number of any pure element is zero, The oxidation states of Mg and Oz is 0.
Now in magnesium oxide(MgQO), magnesium being an alkaline earth metal has a charge of +2
and oxygen has a charge of -2. Now notice that the oxidation state of magnesium went from 0 to
+2. So, the oxidation state increased. Whenever the oxidation state goes up, oxidation is taking
place, the substance is said to be oxidized. In the case of oxygen, the oxidation number decreased
from 0 to -2.

Whenever the oxidation number decreases that means goes down, the substance is being
reduced. Oxidation always occurs with a loss of electrons and reduction is associated with a gain
of electrons. Metals, they like to give away electrons, they like to form metal cations as they give
away electrons, they will acquire a positive charge.

Nonmetals like oxygen, they like to acquire electrons and so they will develop a negative charge.
The substance that is oxidized is known as to reducing agent or reductant and the substance that
is reduced is known as the oxidizing agent or oxidant. Metals are reducing agents because they
will cause the other substance to be reduced.

Nonmetals like oxygen gas, fluorine, they are oxidizing agents because they cause another
substance to be oxidized.

Now magnesium (Mg) is changing into the magnesium ion (Mg*?). This magnesium ion has a +2
charge and in order to become +2 cation, it has to lose two electrons. Now because magnesium
lost electrons, this reaction is known as a half reaction. That is the oxidation part of the reaction.
When a substance loses electrons, it is being oxidized.



Now oxygen, I’'m going to write atomic oxygen because this reaction is not balanced.
Individually oxygen acquires two electrons and turns into oxide(O?). This second half reaction is
the reduction part, since oxygen is acquiring electrons. Whenever a substance gained electrons or
if the oxidation number decreases, its reduction. Now for half reactions, anytime you have
electrons on the right side, it is going to be an oxidation half-reaction. Whenever the electrons
are on the left side, it is a reduction half-reaction.

Mg — Mg™ + 2e [ Oxidation half reaction ]

O +2e — 02 [ Reduction half reaction ]

Example-2: Single displacement or substitution reaction

Zn is oxidized
It loses electrons
| Oxidation j

+1 -1 0 +2 -1

0
Zn + HCl —H,+ZnCl,

Reducing Oxidizing Zn — Zn" + 2e [ Oxidation half reaction |
agent gent Reduction

Hydrogen is reduced
It gains electrons

H'! +e — H [ Reduction half reaction ]

zinc metal reacts with hydrochloric acid to produce hydrogen gas and zinc chloride. Identify the
substance that is oxidized and the substance that is reduced and also identify the oxidizing agent
and a reducing agent. Now if you get a question like this on a test to find a substance that is
oxidized or reduced. Always look at the reactants, both are present in reactants and don't look at
the products. Now let’s find the oxidation states of everything. The oxidation state of any pure
element is always zero. Now whenever hydrogen is bonded to a nonmetal, it's going to have a +1
oxidation state which means chlorine has to be -1. halogens are usually -1 except with Oxygen,
so Cl still -1 which means Zn has to have a +2 charge. Now the oxidation of zinc changes from 0
to +2. So zinc is being oxidized. Hydrogen changes from +1 to 0. So HCI as a substance is being
reduced, even though only the hydrogen portion of that substance is being reduced.

Example-3: Combustion reaction

Carbon is oxidized
It loses electrons

Oxidation |
-4 #1 0 +4 -2 +1 -2

CH, + 0, —CO,+H0

Reducing Oxidizing
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Oxygen is reduced
It gains electrons

» So identify the oxidation states of every element in this reaction and then find the
substance that is oxidized reduced and identify the oxidizing agent and a reducing agent.



Methane reacts with oxygen gas and it produces carbon dioxide and water.

In the above reaction, the pure elements which is only oxygen gas. The oxidation state of Oz
is going to be zero. Now whenever hydrogen is bonded to a nonmetal, it is going to have a +1
oxidation state. And when oxygen is found in a compound, the oxidation state is -2 except
when it is bonded to fluorine or except in peroxides or superoxides, its different. In
methane(CH4) we have one carbon atom and four hydrogen atoms which has to add up to
make zero because methane is neutral in charge. Now each hydrogen atom has an oxidation
state of +1. So therefore carbon has to have an oxidation state of -4 in methane.

In COg, 1 Carbon & 2 oxygen atoms which equals in the charge of zero and each oxygen has
a charge of -2. So in this case, carbon is going to have an oxidation state of +4. So carbon
changes from - 4 to +4 .Ttherefore the oxidation number of carbon is increasing which means
carbon is oxidized or that means methane is oxidized. Now hydrogen doesn't change but
oxygen changes from zero to -2. So therefore, for oxygen gas, the oxidation number is
decreasing. So it's being reduced which means that methane is the reducing agent, it helps to
reduce Oz and oxygen gas is being reduced which makes it the oxidizing agent. The whole
substance methane as being oxidized because carbon is part of methane.

Now if you don't want to look for the oxidation numbers, there is a quick way to tell if the reaction is
going to be a redox reaction. if you see a pure element on one side and then that element being part of
a compound on the other side, it's always going to be a redox reaction. there's a transfer of electrons.

Example-4 & 5: Addition reactions

Now let’s take more two examples and determine if it's a redox reaction or not. so both of
these examples are synthesis reactions also known as combination or addition reactions.
sometimes a combination reaction can be a redox reaction and sometimes it won't be. now if
you look at the first example, there are no pure elements, all we have is compounds. When
you see that type of change, chances are, it's not a redox reaction. but if you look at the
second example we have a pure element zinc and then that same element is in a compound in
product side. so the second example is a redox reaction and let's prove it using oxidation
numbers.

+2 -2 +1 -2 +2 -2+

MgO + ILO — Mg(OH),

So let's start with the first example, oxygen has a -2 charge, magnesium in magnesium oxide
has a +2 charge, hydrogen has a +1 charge on left side. Now magnesium hydroxide is
composed of Mg and two hydroxide ions but magnesium still has an oxidation state of +2.
And in magnesium hydroxide, oxygen is still -2 and hydrogen is +1. So the oxidation state
does not change for any element that means there was no transfer of electrons and so this is
not a redox reaction.



Zn is oxidized
It loses electrons

Oxidation |
+2 -1

o} -]
Zn + Cl, — ZnCl,

Reducing Oxidizing
agent agent Reduction

Cl is reduced
It gains electrons

Now for the second example zinc and chlorine has an oxidation state of zero on left side and in
zinc chloride, Cl has -1 oxidation state. zinc has a +2 oxidation state. So zinc is being oxidized,
therefore, there is a transfer of electrons which makes this reaction a redox reaction.

Example-6 & 7: Decomposotion reactions

Now consider the two decomposition reactions. When mercury oxide is heated, it decomposes
into mercury and oxygen gas and if we heat calcium carbonate, it will decompose into calcium
oxide and carbon dioxide gas. So which of these decomposition reactions, is the redox reaction?

HegO — Hg + O, Redox reaction
N\

Pure element

CaCO; — CaO +CO, Non-redox reaction

Looking at the first example, we have oxygen as a pure element on the right side and then that
same element is within a compound. so the first example is a redox reaction.

In the second example, there are no pure elements, all we have are just compounds. so the second
example is not a redox reaction. That is a quick way to tell if it's a redox or not.

» All combustion reactions are redox reactions.

» All single displacement reactions are redox reactions.

» Now synthesis and combination reactions sometimes the redox sometimes or not and the
same is true for decomposition reactions.

» Double replacement reactions are never redox reactions so that includes acid-base
reactions, precipitation reactions and other types of double replacement reactions.

» And a quick way to tell is if you see a pure element on one side and then the same
element within a compound on the other side, it's going to be a redox reaction.

Exercise:

1. What is oxidant (oxidizing agent) and reductant (reducing agent)?



2. In the following reactions, oxidation-reduction occurs simultaneously. Analyze using
oxidation number.

) Na(g) + Ha(g) — NHsi(g)
i1) PClsg) = PCls) + Clag)
ii1) C(s) +02(g) — CO2(g)
v) Zn + CuSO4 — ZnSO4 + Cu
V) SO2(g) + O2g) — SO3(g)
vi) Mg + H2SO4 — MgSO4 +H2
vil)  2Mgs) + Oz — 2MgO
3. Determine which ones are redox and which ones are not?
1) CHsOH + O2 — CO2 +H20
il) NaOH + HClI — H20 + NaCl
ii1) CO2+ H20 — H2CO3
iv) AgNOs + NaCl — AgCl +NaNOs3
v) Al + CuClh — Cu+ AlCl3



